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First Name Last Name

CE 80N Quiz 1, Jan 14, 2016

. (30 points) Fill in the missing values in the tables below.

Decimal | 8-bit Binary | Hexadecimal

22 0CC| ©iye I &
235 o (ot ER
127 o il Eds

5% 00111010 '3 A

532 00111001 39
IS¢ 10011100 G¢

42 | ocio jele 0x2A
35 £0IC ol 0x23
{#c (Ci0 (e]C OxAA

2. (12 points) Fill in the missing values in the tables below.

10010011 | 10010011 | 10010011 | 10010011

4-bit binary number

4-bit mask 11000000 | 11111111 | 11100000 | 11111000

Bitwise AND of the above two | | . ool | [0 ,aa il 190 000 | {51 p0 CF
t=o 1 =

3. (8 points) The following bytes are transmitted over a cable. What should the value of the parity

bit be, if it has_OD.D parity?

Byte Value | Parity Bit
10101010
00110010
11111111
11110000
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CE 80N Quiz 1, Jan 14, 2016

1. (30 points) Fill in the missing values in the tables below.

Decimal | 8-bit Binary | Hexadecimal

123 ol {oil 7D

194 jlo¢ oo C iy
205 itet Jle| )
49 01100011 €3

{OF 01101011 6B
22R 11100100 El
£g Ciob Cloe 0x44
25 1101 0xFB
f+ Q0 {io| 0x4D

2. (12 points) Fill in the missing values in the tables below.

4-bit binary number 00110101 | 00110101 | 00110101 | 00110101
4-bit mask 11111000 | 10000000 | 11111111 | 11110000
Bitwise AND of the above two [cv1{ 002 ¢ | gpogedét|ociloit] |poi ove®

3. (8 points) The following bytes are transmitted over a cable. What should the value of the parity

bit be, if it has_ EVEN parity?

Byte Value | Parity Bit
00110010 4
11110000 0
10101010 E

11000001
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CE 80N Quiz 1, Jan 14, 2016

1. (30 points) Fill in the missing values in the tables below.

Decimal | 8-bit Binary | Hexadecimal
221 et iteq DD
141 jecd jloj <D
49 Qej| ocej 2
b 00011011 11
T 01011011 51
95 11000011 ¢3
(65 joic ojof 0xAb5
£3 il iy Ox3F
S et oeid 0x33

2. (12 points) Fill in the missing values in the tables below.

4-bit binary number 10100011 | 10100011 | 10100011 | 10100011
4-bit mask 11111111 | 11110000 | 11111000 | 00000000
Bitwise AND of the above two | [¢pcei) | 10i0 svoC | (0100068 | poc? oo

3. (8 points) The following bytes are transmitted over a cable. What should the value of the parity
bit be, if it has EVEN parity?

Byte Value | Parity Bit
11110000 ¢
10101010 C
00000000 C
00110010 4




